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QUESTION 1

If you use the IBM SPSS Statistics Select Cases dialog to conduct analysis on a subset of cases

and you want to keep all cases in the same dataset, which option is appropriate?

A. Copy unselected cases to a hew dataset
B. Copy selected cases to a new dataset
C. Delete unselected cases
D. Filter out unselected cases
Answer: D
QUESTION 2
Which interpretation is correct for this Regression Coefficients table?
Coefficients®
Standardized
Unstandardized Coefficients Coefficients
 _Model| B Std. Error Beta t Sig.
1 (Constant) -624 687 1186.460 -527 599
Employee Gender -1629.252 264.350 -.249 -6.163 000
Minority Classification -992.918 284710 -124 -3.487 001
Educational Level (years) 642,284 43,296 589 14,835 000
Employee Age 35.871 17.265 A31 2,078 038
Work Experience (years) 22,695 23.602 062 962 337
Months on Job -21.770 11.126 -.068 -1.957 051

a. Dependent Variable: Beginning Salary
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Answer: D

QUESTION 3

In order to access the New Custom Attribute feature in the Data Editor, the Data Editor must be
viewed from the:
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Answer: D

QUESTION 4

Value Labels button.
Dialog Recall button.
Data View tab.
Variable View tab.

What information is contained in the journal file?

For every additional year that you get older, your beginning salary decreases on average by $13.
For every additional year that you get older, your beginning salary decreases on average by $35.9.
For every additional year that you get older, your beginning salary increases on average by $13.
For every additional year that you get older, your beginning salary increases on average by $35.9.
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Answer: D

QUESTION 5
Which feature would you use to create a new variable whose values represent the number of
times that each respondent answered Strongly Agree to a series of satisfaction questions?
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Answer: C

Compute Variable

Visual Binning

Count Values within Cases
Rank Cases

QUESTION 6
Suppose you want to get help on the Cumulative Percent column in a FREQUENCIES table.
Using the figure below, how would you do it?

Information relating to the IBM SPSS Statistics data file you are working with
Information relating to the IBM SPSS Statistics data file you are working with and any output created
Syntax from all operations relating to manipulating variables
Syntax from actions taken in dialog boxes or from running commands from the Syntax Editor

HAPPINESS OF MARRIAGE
Cumulative
Frequency | Percent | Valid Percent Percent
Valid VERY HAPPY 528 32.9 61.9 61.9
PRETTY HAPPY 300 18.7 352 97.1
NOT TOO HAPPY 25 1.6 29 100.0
Total 853 531 100.0
Missing REFUSED TO ANSWER 8 5
System 744 46.4
Total 752 46.9
Total 1605 100.0
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Answer: D

Go to Help ... Topics and search for Cumulative Percent.

Go to Help ... Command Syntax Reference and search for Cumulative Percent.
Go to Help ... About.
Double-click the table, right-click Cumulative Percent and select What's this? from the pop-up menu.




